Assembly. Instructions
I@%’#&Sﬁ“ MODEL NO. : WC/W(C55-6034
KITCHEN WORK CENTER

Thank you for purchasing Whitewood indushies Inc. product. This product hes been designed for easy assembly pnq c_onshuc’red
for durabiity. Please iake the fime fo read and follow the assembly inslructions carefully. I a part or hardware is missing or have
any difficulties in assembling this product, Pleose contact Toll Free 1-888-944-83%6.

PARTS LIST :

SIDE PANEL 2PC5
BOTTOM PANEL

1

2

3 TABLELEG

4  CENTER BASE

5 . TABLE TOP ASSEMBLY

& BACK PANEL

7 CENTER CABINET SHELF
8  SIDE OPEM SHELF

9 DOQOR PANEL

10 BANANA SUPPORT

Page 1 of 8.



Assembly Instructions

MODEL NO. : WC/W(55-6034

KITCHEN WORK CENTER

HARDWARE LIST :

SHORT PAN HEAD WOOD SCREW-M4x16MM
MEDIUM PAN HEAD WOOD SCREW-M4x30MM
LONG PAN HEAD WOQD SCREW-M4x38MM
WOOD DOWEL-M10x30MM

JCBC SCREW-M6:40MM

HEXAGON NUT-5/16"

SPRING WASHER-5/16"

FLAT WASHER-5/16"

“L" BRACKET

SHELF PIN

"L" SHELF PIN

WOOD KNOB-DIA.34MM

ROLLER CATCH-MALE

ROLLER CATCH-FEMALE

DOOR PIN

ALLEM KEY-M4

TRUSS HEAD SCREW

WRENCH-12.8MM

ADJUSTABLE GLIDE

SPRING DOOR PIN

—IMFJ,D'UOZBZI_X‘—_:ED'HNDF}CUI?

TOOLS REQUIRED (NOT INCLUDED) :

28 PCS

8 PCS

10 PCS
14 PCS

6 PCS
8 PCs

_ 8PCS

8 PCS
8 PCS
8 PCS
4 PCS
6 PCS
2 PCS
2PCS
2PCs
1PC

6 PCS
1PC

2 PCS.
2 PCs.

q::.(_—\/j Philip Head Screw Driver

E | Rubber Mallet

IMPORTANT NOTE :

» Piace all wooden parfs on ¢ clecn and smooth surface such as @ Tug of carpet fo avoid Hhe perts from being scratched. Check to
be sure that you have all parts and herdwere. Remove all wiapging matericls, including staples & packing straps before you storf

fo assemble.
» Keep cll hardware parts out of reach of children.

-DO NOT TIGHTEN BOLTS/SCREWS UMNTIL ALL COMPLETELY ASSEMBLED.

TAP GENTLY

L Page 20f 8, ‘



Assembly Instructions

MODEL NO. : WC/W(55-6034

KITCHEM WORK CENTER

' 2

Page 3 of 8.



... Assembly:Instructions

Page —4 of 8.



Assembly Instructions
MODEL NO. : WC/WC55-6034
KITCHEN WORK CENTER

8 -

V * PL EASE REMOVE PLASTIC
PROTECTING CAP BEFORE

ASSEMBLE LEG TO TOP,

Page 5of 8.



Assembly lnstructlons 7
MODEL NO. : WC/WC55-6034
KITCHEN WORK CENTER




. Assembly Instrﬁctipns
MODEL NG, : WC/W(C55-6034
WITCHEN WORK CENTER -

“i‘ﬂ

l‘%z

Page 7 of



- Assembly Instructions . :
* MODEL NO. ((WC/WC55(6034) = LoC-E603AA
KITCHEN WOR

13

1470 REMOVE DOORS

* Draw out drawers first if you
want 1o remove doors.

* Lised a small screw driver
to press the Spring Door
Pin to remove doors.

-ARE . ND MAINTENANCE ! _
The touch of a soft cloth s all the mainfenance your wood pisces will ever need. Never use harsh chemicals or abrasive cleaners,
s they could mark or destroy finish.

VADE IN MALAYSIA Page 8 of 8.



